
 

 

Subtraction without Borrowing 

 

Subtraction of 2-digit Number without Regrouping 

 -  = 

      

 16       - 3          =   13 

The sign (-) indicates subtraction. It is called the ‘minus’ sign. 

When we subtract one number from the other, the answer is called their 

difference. 

The subtraction 16 – 3 = 13 is read as sixteen minus three is equal to thirteen. 

Let us subtract 12 from 75. 

Write the number one below the other as shown. 

Step 1: Subtract the ones. 

     5 ones - 2 ones = 3 ones. 

     Write ‘3’ in the ones place. 

Step 2: Subtract the tens. 

     7 tens - 1 ten = 6 tens. 

     Write 6 in the tens place. 

The difference is 63. 

Always write the greater number above the smaller number.  
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